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<nnywé 5. Unghwjwywb y&wn Yuwuwnwpnnlbpp

1. <wjwunwbh <wlpwwtwnipntond unghwjwywb yawnbtp 60 uunwpnod

1) 1974 pqwywbh hniGjwnph 1-h0 L npwbhg hGwnn §G4wé Jwpdnt wzfuwwnnnlbpn,
Gnunwinbtpp, wohwuwn dGrbwpywwnbptpp.

2) 0hOsk 1974 pwywbp 6Gwd Jwpdnt w2fuwwnnnbtpp, Gnunnwpbtpp, wbhwwn
dbGrGwpywuntinptinp, Grt unyb optitpny uwhdwbGywd Yupgny GepYwywgnt) GG unyl
ontlph 33-pn hnnjwdéh 1-hG dwuny uwhdwOywdé nhdnd (wjunthGun' Yehuwpnwywihl
dnlnh pbGuinpnipjwb nhdniy).

3) htplwgpwnywdé wadhbp” waywfu nnwphphg, ndptinp unylb optlpny uwhdwbGywé
ywpgny GEpywywgnt) G0 YEhuwpnawywiht $nbnh pbuinpnigwb nhdand Ywd untyt dwuhp
1-h0 yGunh hhdwb ypw Gpplhgt Yuwwnwnt 60 unghwjwywb Jawp:

2. UGdép sh Ywpnn ybpwbwyt Yehuwpnwywiht $nbnh pbunpnipjwb nhdnwdh hpdwa
Jpw unghwjwywb y&wp Yuwwnwnbint ywpwunwynpnegntt unwbdbtine npnnudp:

3. <wjwuwnwbh <wbpwwbwnnipntbnid pbwynipjwb hpwynibp (Yugnipjwb
ywpgwyhswy) ntbgnn onwpbpynw pwnwpwghbtpp L pwnwpwghnipinta sntbtgnn
wbdhbp unghwjwywb y&wnputpp Yuwunwpnod 60 pnhwOnep hhdntbpbbpny, <wjwuwnwOh
<wlpwwtunnipwl pwnwpwghbtph hwdwn uwhdwOjwdé Yuwpgny, et <wjwuunwbh
<wlOpwwtunnipjwb showqquiht wwjdwbwagpny wy pwl Gwuwwnbuywé st:

4. UGép nwnwpntd  unghwjwywb y&wp Yuunwptip, Gt

1) ipwgh £ Opw Yehuwpnwywihb tnwphpp, b Gw hwpyuwht dwpdhG £ Gepyuywgpt
nhintd unghwjwywb y&wp Juuwnwnpbip nwnwntglbint yGpwptpjwy.

2) widép unyb optbpny Gwuwwnbujwd nGwptpnid dwulbwyhgltph rEGunpp
JwpnnhG 0GpYuywglnid £ nhdndd yninnwywyhb Yehuwpnawy unnwbwint yGpwptnjuiy:

5. Uny0 hnnwéh 4-pn dwuh 1-h0 yeunny Gwuwwnbuwd nhdntdp hwpywihbt dwpdhb
OGpYwywglbnt Ywngp, nhdnwdh dup uwhdwOnd GG hwpyuwihb dwpdhbp b <wjwuwnwh
Lwlpwwtunnigwl Ywrwdwnnigjwb $hOwbuwywb ninpuinh whunwywb |hwgnpywé
dwpdihbp® hwdwuwntbn hpwdwlny: C0n npnid, Jwpént w2fuwwnnnp nhdntdp hwpyuwyhb
dwnuhb £ oEpyuywgbnid hwnpyuyhb gnpdwywih dhongny: Wu nbwpnid nhdntdp
hwdwpynid £ hwpyuwiht dwpdhb GEpyuywgywé hwpywiht gnpdwywihb GEpYuwywglbne
wwhhg:

6. Uwulwyhgbtpp rGGunpp Jwnpnnp unyb hnnwéh 4-nn dwuh 2-pn Ybunny
OwuwwnGujwd nhdnd GGpYwywgybint dwuhb nbntlwglnud £ hwpyuwiht dwpdbha, huy
hwnlwjhb dwpdhOp <wjwunwth <wipwwtunniejwlt Yuwrwywnnipjwld $htwluwywb
ninpunh weinwywb (hwgnpywdé dwpibh b hwpyuwiht dwpdh hwdwunbn hpuwdwony
uwhiwbOywé Ywngny™ gnpéwunnihG:

7. UbOuwpnwywyhb tnwphpp |puwgwdé Yud dwulwyhgbtph rbGGunpp yuwpnnhb
Yntinwwihb yEhuwpnwy unwbwnt nhantd GEpYwyjwgnpwd wbadh Ynnihg unghwjwyw
L{éwn Jwunwptbint wwpunwywbnipniop nwnwpnid £

1) quruwmuJL{andhg b <uJqumuJUh <uJUnu1u4bLnnL[aJuJ0 hanUquhU onquqnan{
uwhiwbywé™ 2pwab : "




2nowlwrenipjwl hwpyh hwdwywnpgnid hwpyynn gnpéncbtinipynit hpwywbwglnn
wlhwuwn dGrO0wnywuwnbnbph LbrvwpbEpp-hwdwp gnponcbbnipywb wyn nGuwybtph
dwuny’ hwiwwwwunwufuwb nhdntip hwpyuwihb dwpdht GepYwywgbbine Ywd
dwubwyhgbbph rbGunnpp ywpnnht GepYwywgbtint wiujwb hwonpnnn wiujw 1-hg.

2) dGrOwpywunhpwywb GYwintinbbphg™ hwiwwwwnwufuwb nhdntdp hwpyuwha
dwpaihb Gepywywgbbine wd dwulwyhgbtiph rGGunpp Juwpnnho GEpYyuwywgbbpne
unwpyw hntGwnh 1-hg:

8. Uldp, npwtiu hbplwgpwnywé wbd, unwgywé Gywintinbbphg unghwwyw
JAwn uunwpnud £ yuwdwynpnipjwb uygpnibpny, uniyb opntbph 7-pn hnnjwdéh 4-nn
dwuny uwhdwOywé Ywpgny:

<nnywé 6. Unghwjwywb y&wnph hwywpyiwh opjtyunp L npnypwswdp

1. Unghwjwywb y&wpbtph hwadwpydwb opjGyunbtnb GO

1) w2fuwunnwywpép.

2) dGrOwpywuinhpwywb GYwdncunp.

3) npwbu hoplwgpwnywd whd unnwgywdé BYwininbbnp:

2. Unyb optbph 5-pn hnnwéh 1-hb dwuh 1-h0 YEinny uwhdwOywé wbdhlp dhOsl
yGhuwpnwlwiht tnwphpp [pwOwp unghwiwywb yAwnpp Yuwwnwpned G0 hGunlywy
swhbpny.

1) w2fuwunwywpéph

w. 5 nnynuh swihny, Gpb wluwwnwywndh wduwywb swihp sh gpwqubgnid 500
000 npwup,

p. 10 inynuh L 25 000 npwadh nwpptpnipywb swuhny, Gpb wluwwnwywndh
wiuwywb swihp gGpwquwbgned £ 500 000 npwadp.

2) dGrOwpywunhpwywb GYwiwnh (pwgwenipjwip unyl dwuh 3-pn Yeunnyg
Owfuwwnbujwé nbwph)

w. 5 tinynup swihny, Gpt wjn GwAinh wptlwb swhp sh gpwqubgnid 6 000 000
npwap,

p. 10 tnnynuh L 300 000 npwdih wnwpptpnigwl swihny, Gpb wyn GHWAnh wpGYw
swihp gpwqubgned £ 6 000 000 npwap.

3) <LUJuJUU’1uJ[Jh <w0nwu4bunmrajwu hwnUthO ontOugnpny uwhiwOywé
LY g-2nowlbwrenipjwl
hanUh hLuljuJUumqnui hujnuan[ qnnéntUanraJw[l mbuwuﬁbnh liLuunL{ wduwywb 5000
nnwuh swhny.

4) npwtu hGplwgpwnywdé whéd unwgywé GYwininbtph 5 tinynup swidhny, waywifu
GUwdwnh swihhg:

3. ULOGuwpnwywihh $nGnh pbunpnipjwb nhdnwdh hpdwb ypw unghwjwywb
JawnUtp Yuuwwnptine, unyb optbph 5-pn hnnwéh 1-h0 dwup 1-h0 YGwnny uwhdwbGqwé
wbdh Yehuwpnwywihbt vwphpp (pwbwint nbwptpnud (Gt wbdp sh GEpYuwywgnt unt
onptbph 5-nn hnnwdéh 4-pn dwuny Gwfuwunbudwé nhdnwdp) wbép unghwwywb y&wpp
wuwnwnpnid b hGuinlyw) swhGpny.

1) wpfuwwnwywndh, dGrOwpyuwunhpwywb GHwdinh (pwgwenipjwdp unyb dwuh 2-pn
ytwnny Owfuwunbuywé nbwph), npwtu hOplwgpwnywdé wid unwgywd GHwdantnbtph
5 wnnynup swhny.

2) <wJuJULnuJUh <LUU[‘]LUU.{ULnnL[aJUJU hanUthU onquqnan{ uwhdwOojwdé
L B-2nowibwrnipjw




hwnpyh hwiwbwpgnid hwpyynn gnpontbtinipjwb tnbuwybttph dwuny™ wduwyuwb 5000
nnwah swhny.

4. UGép unyb hnnwdéh 3-pn dwuny uwhdwOywé swihny unghwjwywb y&wnbtn k
Jwuwnwpnid

1) nhdnudp GEpYwywgltnt (nhdntdh hhdwb ypw unylb opbbpny uwhdwOywé Yuwpgny
yGhuwpnwywiht hwyhyp pwgtint) opwb hweonpnnn wiujw wfuwwnwywndhg.

2) unyb optlbph 5-pn hnnwéh 1-hG dwup 1-hG YGunnyg uwhdwbywé wbéh
yGhuwpnwlwiht tnwnphpp [pwOwint opndwb hwonpnnn wiujw w2fuwwnwywndhg.

3) nhdnidp GGpYuwywgltint (nhdntdh hhdwb ypw unyb optbpny uwhdwbGywé Ywngny
Ythuwpnawlwiht hwyhyp pwgbint), unyl optbph 5-nn hnnywéh 1-hb dwuh 1-h0 YGuinny
uwhiwbOywé wbdh Yehuwpnwlwihb trnwphpp (puwiwint nwpyw dGrwpywunhpwywl
GUwdwnphg.

4) <Lu1wumw0h <u1[|nwu4l:unmrajwu hLunquhU ontlugppny uwhdwbywé
it g-2nowlbwrenipjwl
hwnUh hLuduJUanqnuj hwnud_nq qnnénLUanrc}JwU mbuqubnh dwunq nhinwdp
GEpYwywglbnt (nhdnwdh hhdwb ypw unyb optbpny uwhdwbOywdé Ywpgny
YGhuwpnawywiht hwyhyp pwgtint), unyb optbph 5-nn hnnywdéh 1-hb dwuh 1-h0 YEuinny
uwhdwOywdé wbédh Ythuwpnwywht vnwphpp (pwbwint opdwb hwenpnnn wdiuywbhg:

5. Uny0 hnndwéh 2-pn dwuh 3-pn L 3-pn dwuh 2-pn Ysntpny uwhdwbGywé
unghwiwywb y&wnpp hwdwpydnid b <wjwunwOh <wbpwwbwunnigjuwd hwpyuwhl
onbhugnppny uwhdwlOywé 2pouburptpitt-hepbb-t-twpuanrbagpushb-huphbh
hwtwbwpgbpatd-2nowlwrenipwl hwpuh hwdwywpagnid hwpyynn gnpénibbnepywl
inbuwybtph dwunyd hwwpywé unghwiwywb yswnh gényd ytpolhwywb
wwpuwynpnepynt(:

6. UGdh wiuwywl hwiwwrb GYwdnh «LYwqwagntt wiuwywb w2fuwnwywnéh
dwuhb» <wjwunwbh <wipwwtwunnipwb opttph 1-h0 hnnjwdény hwpybunnt wduyw
hwdwp vwhiwOdwé swihh 15-wwwwnhyp gEpwquwbgnn gnidwphg (wjunthbu
unghwjwywb y&wnph hwwnpydwb opjtyuinh wrwybiwagnyt wiuww 268) uad
nwptywb hwiwfuwrb Gwinh «LYwquagnt)t wduwywb wiuwnwywpdh dwuhO»
{wjwunwbh <wbpwwtwnnijwb optbph 1-hb hnnwény hwytunne tnwpyw hntbywnh
1-h npnigjwip uwhdwOywdé swhh 180-wwwwnhyp gpwquwignn gnidwphg (wjunthGun
unghwjwywb y&wnph hwwnpydwb opjtyuinh wrwybiwagneyt nnwptlwb p64)
unghwjwywb y&wnobp s60 hwadwnyynid L thnfuwbgynid (qubdynid): Gpb wbap
GUwdniun £ unwbnid 6h pwOh wnpinuphg (unwbnid £ dGrGwpyuwunhpwywb GYwdnin L
w2 fuwunwywpd), www hw2dwnpyqwdé L hnjuwbgwé (qubddwsé) unghwjwlywb
JAawnbtph® unylb hnnjwéh 7-pn dwuny uwhdwOywé swhp gGpuqubgnn gnidwpbtpp
(6pE winwhuhp wryw GO) Jwubwyhgttpht yEpwnwpdbbine Ywnpgp uwhdwbnid GG
hwnywjhb dwnpdhOp L <wjwunwih <wipwwtwnnipjwt Yyuwrwywpnigjwb Showluwywh
ninpunh weinwywb (hwgnpywé dwnihOp hwdwwnbn hpwdwbny: Uduwywb hwiwfuwrG
GYwdniuinp wGdh Ynnihg unwgiwb Gopwlyw hwpybuinnt wiujw hwdwnp (pninp
gnpswuinniOtph hwqwpywé) wiuwnwdwndh b npwb hwywuwnpbgywé GHwantuinbbph
nt wyn hwaytuinnt wiujw pbpwgpntd wiodht Jdwnpywd wywjdwbwagpwihb GYwdwnh
hwOpwagntiwnb £: SwpGywl hwdwuwet Gwdntuinp wadh Ynnihg unwgiwl Ghopwyw
hwyytunnt tnwpyw dGrtwpyuwunhpwywb GYwdwnh, hwyGunne nwpyw (wdhultph)
hwdwp hwdwnpyywé (pninp gnpdwiinnibtph hwdwnpyuwé) wfuwnwywpdh b npuwb
hwywuwnpbgywé GwininbGtph nt wyn hwyGunne nwpdw wbadhb yawpywo
wwjiwlwgpwiht GYwinh hwbpwagndwnb t: Unyl dwuny uwhdwOjwdé wrwybiwgnyl
uwhdwOwswtpp s60 tnwpwdéyned unybt hnnwdéh 11-pn dwuny Gwfuwunbuywé
nGwptnh Ynw:




7. Uny0 optlph 5-pn hnnwdéh 1-h0 dwunyd uwhdwOywé wbdh Ynnihg y&wniwl
GOpwyw unghwjwywb y&wnph gnidwpp sh upnn gpwqubgt

1) wduwywl

w. hwiwfuwrb Gwdiwnh 5 tninynup, Gt wyn Gwdwnh swdhp sh gepwqwogned 500
000 npwup,

p. hwdwfuwrb GYwdwnh 10 tinynup L 25 000 npwadh nwppGpnepynLOp, GRE wyn
EUwdwnh swihp gEpwqubgned £ 500 000 npwap,

g. unghwiwywb y&wph hwqwpyiwb opjyuinh wewytiwagnyb wiuwywb 260h 10
wnnynuh L 25 000 npwih nwpptpnigynilp, Grb wyn GYwdwnh swihp gpwqubgnid k
unghwjwywb y&wnph hwdwnpydwb opjtyuinh wrwybiwagneyt wiuwuwh 64p.

2) nwpblywb

w. hwiwfuwrb GYwdawnh 5 tinynup, Geb wyn Gwdiwnh swdhp sh gpwqwbgnid 6 000
000 npwunp,

p. hwiwfuwrb GYwdawnh 10 tinynuph L 300000 npwdh twnppeGpnipynLlp, Gt win
GYwdwnh swhp gEpwqubgned £ 6 000 000 npwap,

g. unghwjwywb y&wph hwqwnpyiwb opjtyunh wrwytiwagnylb tnwntlwb 2600 10
wnnynup L 300 000 npwih tnwpptpnipynibp, Geb wjn GYwdiwnh swihp gGpwqubgnid £ 6
000 000 npwup:

8. Uny)0 hnnwéh 7-pn dwuny uwhdwOywé wbdh ynnihg yawpdwb Gopwyw
unghwiwywb y&wnh gnidwph wewybiwagnya swhnid hwayh £ webdnid Gwbl unyl
hnnwdéh 2-pn dwuh 3-pn L 3-pn dwuh 2-pn Yeuinbpnyg uwhdwOywdé unghwwyuw
J&wnp:

9. Unylt hnnywéh 7-pn dwuny uwhiwOywé wbdh Ynndhg ywpdwb Gohpwyw
unghwjwywb y&wnph gnidwph wewybiwagnya swhnid npwbu haplwgpwnywé wbad
unwgywé tHwintnbtphg Ywunwpynn unghwjwlwb y&wnpbtpp hwyh s60 wrbyniy:

10. @npSdwunnilb, npwtu unylb opthph 5-pn hnnywéh 1-h0 dwuny uwhdwbOjwdé dhbsl
3 nwptywb GpGluwgh fubwdph wpdwynipnnid gunnbynn ywpéne wfuwwnnnh hwpyuwh
gnpdwywy, ohbsl 3 tnwnbywl GpGfuwih fubwdph wpdwynipnnid guinbynn Jupdnt
w2fuwwinnnh wanitthg hp dhongbbph hwayhb hwgwnynid L thnfjuwbgnid £ unghwiwuw
Jawn fubwdph wpdwynipn gbwint opqwb hwenpnnn wdujwbhg dhOsl GpGfuwh 2
nwphO pwbwnt wohup (06pwrjwy) pOYwéd dwiwlwywhwunywéh hwdiwn wduwywb 3
000 npwdh swihny: Unylb dwuh hdwuwinnd Jupdnt wfuwwnnn b hwdwpynid
pwgwrwwtu gnpdwunnih hGun wfuwnwbpwiht hwpwptpnepntbbGph d6o gunbynn
wban:

11. UW0dp Ywpnn t pGunptp hp GYuwndwdp syhpwetine unyt hnnjwéh 6-pn dwuny b
81-pn hnnywéh 8-pn dwuny Gwpuwwnbujwd wrwybiwagnyl uwhdwbwswhtpp® win
dwuhb OGpYwywgltiny nhdintd hwpyuwiha dwpdpb: Unyb dwunyd uwhdwOywé nhdnudp
OGpYwywgnpwd wbdh Ynnihg yAwnpdwb Ghpwyw unghwjwywb y&wnph gnidwpp sh Ywpnn
gbtpwquagt) unylb hnnjwéh 7-pn dwuh 1-h0 Yswnp «w» L «p» L 2-pn Yeunh «w» b «p»
GUpwytwntpny Gwjuwwnbujwéd uwhdwlwswihtpp: Uadp gwlyugwd dwiwbwy Ywpnn t
hpwdwnyb unylb dwuny Yuwuwnwpywdéd phunpnipintbhg’ GEpYuwywglbtiny nhdntd hwpywh
dwnpahb: Unyyb dwuncd Gpwdé nhdnudbbpp ywnpdne wfuwwinnnp (pwgh hwpyuwh
gnpéwywih wwpunwywanigintbhg wquundwé gnpéwunnih Jupént wfuwwnnnhg)
hwnplwjhb dwpdhl £ 0GpYuywglnid gnpdwuinnch shongny:

12. Unyl hnnywéh 11-pn dwuny Gwuwwnbuywdé nhdanud6pp hwpyuht dwpdh
O6pYwywgltnt Ywpgp, nhinwdh dup uwhdwlOned £ hwpyuwihb npnpunp <wjwuwnwbh
Lwlpwwtunnipwl Ywrwdwnnipjwb |hwgnp dwpdhp:



<nnqwé 9. Uwulwyhgltiph rttuunpp upnnha Yniinwyuht hwunywgnuiGtpp b
wbdtwynpywé inbnblwuinynignibp thnfuwbgtip

1. <wnpywyhb dwpdhOp unghwjwywb Jdwnpbtph yGpwpebpw) hwqwpybtpp
thwuwnwgh unwbwint opndwbhg hbwnn® wewybiwagnebp 10-onjw dwaytunned, dawyned k
npwlp L yfwpdwl hwodGwpwpwyw £ ninwpynid gubtdwwbunwpwb’ unghwwywb
J&wp Yuwuwnwpws (Yuwunwpnn) wbdh hwiwp (ogunhb) <wjwuwnwbh <wlpwwbunnigjwb
whbwnwywb pinothg Yniinwuyht hwuinywgnid Yuwwnwpbine (hwiwwwunwufuw
gndwnObpp dwubwyhgbtiph rGGunpp ywpnnht hnfuwGgtint) hwadwn, Geb
OGpYwywgywé nbntYnipntbbEpnud sjwb upuwibbp, L thnjuwbgyt) 60 unghwwyw
Jawnbtph hwaybunynigjwb db9 G2dwé unghwjwywb yAwnpbtph gény
wwpuwynpnigntbbtpp: Uniinwyuwyhl hwwnywgiwb gnidwpp dlwydnpynid
unghwjwywb y&wnbtphg L unylb optlph hwiwdw)t' <wjwunwbh <wbpwwbwunnipwl
wGunwywb pnebihg hwuinfugynn pwgnighs dhengltnhg:

2. Unyb optibph 5-nn hnnwdéh 1-pb dwuh 1-pb yeuinnd uwhdwOywé wiadwbg hwdwp
(ogunh() dhGsk Gpwbg YGhuwpnwywiht nwphpp (pwbwp Yyniinwuwyhb
hwunywgniabtpp Yuwunwnyned G0 hGunlywy swhny.

1) wiuwywb hwiwpuweb GYwdwnh 10 tinynup swhny wiuwywb hwdwfuwrl
GUwdiwnhg hwyywpyywé L hnuwbtgywé (quibdjwé) unghwjwywb yswpbtph L 10
wnnynup [pwgbtint bwwwnwyny <wjwunwbh <whpwwbunnipjwb winwywb pinigtihg
hwuwnywgynn hwiwwwuinwufuwb dhongbbph (wrwybiwagnybp 25000 npwd)
hwOpwagndwph swhnd, pwyg ng wybih, pwl unghwiwywb y&wnph hwquwnyiw
opjtyunh wrwyblwagneyt wiuwywb 2600 10 tinynup.

2) d6rOwpywuinhpwywb GYwdwnh 10 tinynup swithny dGrGwnpywunhpwywb
GYwdwinhg hwdwnpyqwé L thnjuwbgywéd (qubdywsé) unghwiwywb y&wnobph L 10
wnnynup |pwgbbint bwwuwnwyny <wjwunwbh <wbpwwbwnipjwb whinwywb pnpthg
hwunywgynn hwiwwwwnwufuwb shongltph (wrwytiwagnybp 300 000 npwy)
hwOpwagntdwnph swhnd, pwjg ng wybih, pwa unghwiwywb y&wnh hwdwnpydwb
opjtyuinh wrwybiwagnt nmwptywb 2680 10 linynup.

3) <uJJuJumuJ0h <w0nwu4bunmrajwu hwnUthO ontOugnpny uwhiwOywé
i B-2nowibwrnipjw
hanUh hLuljuJULunqnuj hwnuqnq qnnémubmrajwu mbuwuﬁbnh dwuny” wduwywb 10000
nnwuh swny.

4) wOodbwynpywéd (wwpgbgywé) hwoadwnyh hhdwb ypw O6pYuwywgyuwé
unghwwywb y&awnph hwqwnpyiwb opjyuin hwiwpdnn unylb dwup 1-ha, 2-pn L 3-nn
ytwntipny sOwfuwunbujwé Gwininlbtphg hwwpywé unghwjwywb yawnbtph
swdhny:

3. Unyb optbph 5-pn hnnwdéh 1-h0 dwunyd uwhdwOywé dhOsl 3 tnwptywb
GpGfuwjh fubwdph wpdwynipnnid guinbynn updne wzfuwwnnnh hwdwn (ogunha)
fubwiph wpdwynipn gwint ondwb hwonpnnn wiujwbhg ohbsb GpGluwgh 2 twphG
(pwbwint wihup (0Gpwrjw]) Ywwnwpydnid b ynenwywht hwwnyugned wduwyuwb 8 000
npwuih swihny: Untinwywihb hwwnwgnid ywwnwpbip nwnwnptgyned £ dhbsl 3
nwnblwb Gpbfuwgh jubwdph wpédwynipnb pnhwwnybine nbwpnid’ plnhwwnytint
wdujwbhg: C0n npned, unyb dwuh hdwuuinnyg Jwpdnt wfuwwnnn b hwdwpyned
pwgwrwwtu gnpdwunnih hbn wfuwnwbpwiht hwpwptpnegntbbtph a6 gunbynn
whdép:

4. Pninp nbwpbpnid unyb optbph 5-pn hnndwéh 1-hG dwuh 1-hG Yeuinny
uwhdwOoywé whdwbg Gwiniinbtphg hwdwnpyywé L thnjuwbgywéd (qubdywo)




unghwjwywb J&wnph L wyn wodwbg hwdwp (ogunhb) yuwuwnwpynn Yniunwywihb
hwuinywgiwb gnidwph tnwnptpnipnibp sh Ywpnn gpwqubgt) wduwywb 25000 npwdp
L tnwptlwb 300 000 npwdp:

5. Unyb optbph 5-pn hnnwdéh 1-h0 dwuh 2-pn Yeunny uwhdwOywé wbdwbg hwdwnp
(ogqunh(), hGswtu Gwb wyb nGwpniy, Gpp (pwgb) £ unyb optlph 5-pn hnnywéh 1-ha
duwuntd Odwé wbdh yahuwpnwyuwiht nwphpp, L wbép sh GEpYwywgnt) unyb optlph
5-pn hnnwéh 4-pn dwuny Gwuwwnbuwd nhdincdp, Yneinwywihb hwwnyuwgnidbbpp
uwmwm{nm v{f]

1) <LUJuJUU’1u1[Jh <w0nwu4bunmpjwu hwnuwjhu ontOugnpny uwhiwOywé
i d-2nowibwrnipjw
hanUh hLuljuJULunqnuj hwnuqnq qnnémubmrajwu mbuwuﬁbnh dwuny” wduwywb 5000
nnwuh swny.

2) wodbwynpywé (wnpgbgywsé) hwywnpyh hhdwb ypw EpYyuywgywéd
w2 fuwunwywpdhg hwdwpywé L thnfuwbgwé (qubdywé) unghwjwywb J&wnbtnph
swdhny:

6. <wjwuinwbh <wbpwwbwnnipjwb $hGwbuwywb ninpunnh wEwnwywb |hwgnpywé
dwnpdhbp hwpywihb dwndbh® unybt hnnwdéh 1-p0 dwuny Gwuwwnbuywé
hwbdbwpwpwywOnid Gdwé swhnyd Yniinwwihb hwuinywgnidbtpp shwubwywb hwpyh
uhongny thnfuwbgnid k dwubwyhgbbph rbGunpp Jwpnnh® UGGuinpnOwywb pwOyned
pwgywé hwyhbt hwbdbwpwpwywbp unwbwinig wodhowwbu htunn, uwyuwyb ns niy,
pwl hwonpn w2fuwunwbpwihlG opp: CGn npned, Yneinwyuwyhb hwunywgnidbbph
gniiwnbGpp lnyjwi hwyybunnt dwiwbtwywhwunydwdéh hwiwp dwulwyhgbtph rEGuunnpp
JwpnnhG 60 thnfuwbgynid pwgwrwwtu wjb nGwpniyd, Gpp wadbwynpywoé
(wwpgbgywé) hwwnyh hhdwb ypw wrwowgwéd unghwjwywb yawph
wwpuwynpnegntbp wyn hwaytunne dwiwlbwywhwunywsoh hwdwp dwpywé t: Unyl
ontUph 5-nn hnnwdéh 7-pn dwuny uwhdwbOywdé dwiytunhg hGunn Yneuinwiywih
hwunywgnid sh uuwnwpynia:

7. Uny0 hnndwéh 1-h0 dwuntd G2dwé hwbadbwpwpwywOh ninwpydwb opp
hwpywihb dwpdphbp yninnwwyhb hwuinywgniabtph dwuhb wadbwynpywé
inbntywwnynipntbp GEpYuwywgbnid £ dwubwyhgbtiph rGGuwnpp Jwpnnha:

8. <wpywjhlb dwpdbh ynnihg dwubwyhgbtph rGGunpp Jwpnnht GGpYwjwgynn
wnbnEywuinynipniop wwpniGwynid £ unghwjwywb Jdwnotp Yuunwpwé (Yuwnwpnn)
wbdwlg dwuhb hEwinlyw| wnnbnGynLpynLGbtnp.

1) wlniOp L wggqwbnibp, wbdp hwuwnnwuwunnn thwunwpneh uGphwb (weYwnipjwb
nGwpntd) L hwdwpp.

2) hwOpwihb dwrwynipjw b hwdwpwbOh2h Ywd hwbpwiht swewnipjwld hwdwpwbhy
snLoGOwnt dwuhb wnbnGYwbph hwdwnp.

3) ywunwpwé unghwjwywb y&wnh swhp.

4) wewnwlwb pniptihg hwwnywgynn [pwgnighs dhengh swihp.

5) gnpdwunnih, hOswtGu Gwb Gnuinwiph L wOhwun dGrGwpyuwuwnhpng hwpy y&wnnnh
hwwrdwl hwdwnp.

6) hwpywht dwpdbh L YEGunpNOwYwb pwOyh hwdwwnbn hpwdwbny uwhdwbaywé
wy| inbnGYynLpyntGObn:

9. Untuinwywyhbt hwwnywgniibtpp L unyb hnndwéh 7-pn dwuny uwhdwOywé
inbntywuwnynipintbp thnfuwbgtint hbwun Yuwywdéd ufuwbtpp 2wnytne, ufuwbtph 2nydwb
gnpéplpwgh nbfubhywépwanpwiht b pbpwgwywnguwiht hwngbpp Ywpguynpbint
ywpgp uwhdwbyned £ <wywunwbth <wbpwwtunnipjut Yuwrwywpnigjwb $howbuwyub
ninpunh weunwywb (hwgnpywé dwpdbth L hwpyuwihb dwpdGh hwdwwnbn hpwdwbny
hwiwdw)btglbiny <wjwunwbth <wipwwtunnigjwb Yehuinpnbwywb pwbyh htwn:




Uwulwyhgbtph rGGuwnpp Jwpnnh hwdhb wybk) thnfuwbgywdé Yniinwwhb
hwunlwgniibbpp 560 yepwnwpdyned, wy hwayh 60 wrtynid hwiwwwuwnwufuwl
wbOdwbg gény hGunnwgw Yneinwywihb hwwnwgnudbbpp hwwnytihu L yswptihu:
10. Unghwjwywb y&wp Yuwunwnnn wbdb hpwydnibp ntbh unghwjwywb y&wnbtnh
yuwuwnwnpdwbb ninnbint unghwiwywb hwpbph gnidwpbtpp: Wu nbwpnid unghwiwywb
JAwn uwunwpnn wodb phpwynibp nibh <wjwunwbh <wbpwwtunnigjwb
ywrwywpnipjwl uwhiwlbwé Ywpgny, npwtu Yuwwnwnpywé unghwjwywb y&wnpbtph
thnfuhwunnigned, shwbywqg unwbwnt unghwjwywb thwetph hwynid pbpwghy
wnwnyw hntbwph 1-h npnipjwdp wew dGwgnnpnp, pwyg ng wytih, pwba Gwpunpn
tnwnyw popwgpntd unnwgliwb Gopwlw wfuwwnwywnpéhg L dGrOowpyuunhpwywb
GYywiniinO6phg hwquwpyywé b thnfuwbgywé unghwjwlwb Jawnatph swih k:



